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Question Number : 1 Question Id : 70819115604 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

2
X

The workdone by a gas molecule in an isolated system is given by, W= ;'t-ljzp «kT where x

is the displacement, k is the Boltzmann constant and T is the temperature. a and { are
constants, Then the dimensions of § will be :

Options:

12 fa
70819151961. Lol
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70819151962, ML T’
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70819151963, IM LT

] 2 2
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Question Number : 1 Question Id : 70819115604 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 70819115605 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two stars of masses m and 2m at a distance d rotate about their common centre of mass in
free space. The period of revolution is :

Options :

L ||.'%Gm
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Question Number : 2 Question Id : 70819115605 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 3 Question Id : 70819115606 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Four identical parficles of oqual masses 1 kg made to move alnng the circumference of a
circle of radius 1 m under the action of their own mutual gravitational attraction. The speed
of each particlo will be :

Options :
J(1+242)G
I dunia:
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70819151971, V
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Question Number : 3 Question Id : 70819115606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :
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Question Number : 4 Question Id : 70819115607 Question Type : MCQ Option Shufflina : Yes Is

uestion Mandatory : No .
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Correct Marks : 4 Wrong Marks : 1

Moment of inertia (M.L) of four bodies, having same mass and radius, are reported as ;
| 1= M.L of thin circular ring about its diameter,

[,=M.I. of circular disc about an axis perpendicular to disc and going through the centre,
l3 =M.L of solid cylinder about its axis and

[;=M.L of solid sphere about its diameter.
Then :

Options :
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Question Number : 4 Question Id : 70819115607 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:
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70819151976, 1= =1 14

Question Number : 5 Question Id : 70819115608 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider two satellites Sl and S2 with periods of revolution 1 hr. and 8 hr. respectively
revolving around a planet in circular orbits. The ratio of angular velocity of satellite 5; to the
angular velocity of satellite 5, is :

Options :

70819151977, 8:1

70819151978, 1: 8
70819151979, 2:1
70819151980, 1:4

Question Number : 5 Question Id : 70819115608 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FEhaen oges sRdF Thr @) 8hr HR00N 20D NEH H3eod FOLY LOFREBODIDD

dneneod dening uNTIP :
Options:

70819151977, 8:1

70819151978, 1: 8

70819151979, 2: 1
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70819151980, 1 4

Question Number : 6 Question Id : 70819115609 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Each side of a box made of metal sheet in cubic shape is ‘a’ at room temperature ‘T, the
coefficient of linear expansion of the metal sheet is “o’. The metal sheet is heated uniformly,
by a small temperature AT, so that its new temperature is T+ AT. Calculate the increase in
the volume of the metal box.

Options:

S
70819151981, 4ma aal

70819151982, 4a’aAT

4
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Question Number : 6 Question Id : 70819115609 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 7 Question Id : 70819115610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If'Y, K and n are the values of Young’s modulus, bulk modulus and modulus of rigidity of
any material respectively. Choose the correct relation for these parameters.

Options :
oK
¥—= 'I\z - [‘u.',fm2
70819151985, 2m +3K
o
Y = {Eﬂ] N/ m?>
70819151986, '~ M
Y |
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70819151987. N
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Question Number : 7 Question Id : 70819115610 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Y, K @2 1 i ghmeh obon IRTwos, Mg SRIRoT @3 &ESR SIROTY
NONTOT, 3 YRR Rch:oENen RO0RD ;doaaoqj:im% eoi:;mfé.
Options:
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Question Number : 8 Question Id : 70819115611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the velocity-time graph has the shape AMB, what would be the shape of the corresponding
acceleration-time graph ?

M
Vv
7 i ienielely nalebio i B
time(t)
M
Options :
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Question Number : 8 Question Id : 70819115611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 70819115612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

n mole of a perfect gas undergoes acyclic process ABCA (see figure) consisting of the following
processes.

A—B :  Isothermal expansion at temperature T so that the volume is doubled from
Vl o sz ZVl and pressure changes from P'l to Pz-

B—=C . [sobaric compression at pressure P?_ to initial volume ‘fl.

C—=A : [sochoric change leading to change of pressure from F'2 to P‘l.

Total workdone in the complete C}-'cle ABCA is:

Pa
Pyp======- A
Pyl-======- . B
Ci |
[ |
[ |
[ |
| | 5
Vl 1\"2=2 rl V
Options:

70819151993, U

70819151994, NRTIn 2

o

[ | =
L

nkT [111 24
70819151995.

:
gcollegeduma;
India’s largest Student Review Platform



70819151996.

Question Number : 9 Question Id : 70819115612 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 70819115613 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List II.

List 1 List 11
(a) Isothermal (i) Pressure constant
(b)  Isochoric (ii) Temperature constant
(c) Adiabatic (iii) Volume constant
(d) Isobaric (iv) Heat content is constant

Choose the correct answer from the options given below :
Options :
70819151997, (@) — (i), (b) — (ii1), (¢) — (ii), (d) — (iv)

70819151998, (@) — (iii), (b) — (i), (c) — (i), (d) — (iv)

20819151999, @ — (i), (b) — (iv), (c) — (if), (d) — (i)

70819152000, @) — (i), (b) — (iii), (¢) — (iv), (d) — (i)

Question Number : 10 Question Id : 70819115613 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
T -1 W) T - 1Ay, Beoda.
=y -1 =y - 1

(a) ATy (i) 2@ Efpdmﬁa':g 3
(b) A oneg (i) wveg A SEpljleNcw
(c) =dmegy (iii) RS, A O NTSE
(d) AT w23 (iv) 00T HeT %ﬁmﬁmgd

39NT solyidY TOcIRT ¢wITHD, SOA :
Options :
70819151997, (@) — (i), (b) — (iii), (¢) — (ii), (d) — (iv)
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70819151998, (a) = (iii), (b) — (i), (c) — (i), (d) — (iv)

20819151999, @ — (), (b) — (iv), (c) — (if), (d) — (i)

70819152000, @) — (i), (b) — (iii), (c) — (iv), (d) — (1)

Question Number : 11 Question Id : 70819115614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

[n the given figure, a mass M is attached to a horizontal spring which is fixed on one side to
a rigid support. The spring constant of the spring is k. The mass oscillates on a frictionless
surface with time period T and amplitude A. When the mass is in equilibrium position, as

shown in the figure, another mass m is gently fixed upon it. The new amplitude of oscillation
will be :

M

SO

T77777777 777777777777

Options:

W+ m
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A
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Question Number : 11 Question Id : 70819115614 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

QEECRNTDT UIDY, WO AT0F k JO0T LOW gt WYL 1O DOV, &E WowTY
WORAT BIROW DON & M &) T, ©m WT A DR saFFRY T 39 wom
TEFE Cbd Mg, Ded SotaoT FRHDIT. W¥IHY 0AT0Z TRH0N AMILELT

ngéﬁ 20N f‘;m%om ™3 m m% BH0 @ed sﬁsﬂ LWOHATT, BOTRONT TRT TTH

Bt

7?‘
OO RRNRN,

JTTT 77777 777777777777

Options :
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70819152003. V' M

—_—

\S|

Al
70819152004. \M-m

Question Number : 12 Question Id : 70819115615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Qcollegeduniag
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A cell E; of emf 6 V and internal resistance 2 (2 is connected with another cell E, of emf 4 V
and internal resistance 8 () (as shown in the figure). The potential difference across points
XandYis:

p X B v
—f——f—

6V.20 4V 80

Options :

70819152005, 2.0 V
70819152006, 3.6 V
70819152007, 5.6 V

70819152008, 10.0 V

Question Number : 12 Question Id : 70819115615 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

6Vemf &R 2() 50307 i@f@'@&% 20T 82¢3 E, 33% 4V emf & 8() 0308 i@ﬁﬁ@%
WTRLOWY FReT E, ¥RT AOFRND [WITY SRCDATIFOT], TMInT
X B Y Qomny ImE Q00T QPwooY

Eq Ey

—f——

6V,20 4V 810}
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Options :

70819152005, 2.0 V

70819152006, 36 V
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70819152007, 2.6 V

70819152008, 10.0 V

Question Number : 13 Question Id : 70819115616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A current through a wire depends on time as
i=ogt+pt?

where ay=20 A/s and ;=8 As~2. Find the charge crossed through a section of the wire in
15 8.

Options :

70819152009, 260 C
70819152010, 2100 C
70819152011, 11250 C

70819152012, 2250 C

Question Number : 13 Question Id : 70819115616 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
L0 0300 MRLT BOOWT IMFTET) POTI,), 1=yt Bt2 0ed sTwoAT. Bd
=20A/s BB P=8 As% Iod0oh ©F T JaeerI®, 15 BFomnvY TN

Options:

]

70819152009, 260 C

70819152010, 2100 C
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70819152011, 11250 C

70819152012, 2250 C

Question Number : 14 Question Id : 70819115617 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two equal capacitors are first connected in series and then in paraIIoL The ratio of the
equivalent capacities in the two cases will be :

Options :
70819152013, 1:2
2:1
70819152014,
70819152015, 4: 1

70819152016, 1:4

Question Number : 14 Question Id : 70819115617 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
QOB Fad ma’a’r‘i%ﬁ'?ﬁ_,l RBeow AoKohd BeeRA F030 AXROITTN BRBICAT. B
QOB TFCNYYS ADHD TOUIENY LIRS :

Options :
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70819152016, 1:4

Question Number : 15 Question Id : 70819115618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A cube of side ‘a" has point charges +Q located at each of its vertices except at the origin
where the charge is — Q. The electric field at the centre of cube is :

AX
+0Q +Q
+Q +Q
+Q
+Q A
o —i—> +Q
Options :
' Q [ e A
el [ 2 T
33 mERac |
J0819152017. Y3 ™0a” /
0 ( gl
——— X 1 =
:?'\ﬁ TFFUE'I 2 \ J 7
70819152018.
25 a5 o o
2 ey 2
70819152019, -V3mepa” L /
" { !
—— 5 |Ft FEE
70819152020, V3 mega” | )

Question Number : 15 Question Id : 70819115618 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
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Question Number : 16 Question Id : 70819115619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f an emitter current is changed by 4 mA, the collector current changes by 3.5 mA. The value
of B will be :

Options :

70819152021, 7
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70819152022, U-875
70819152023, U5

70819152024, 3.5

Question Number : 16 Question Id : 70819115619 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IHFIT ANFTWRE) 4 mA I FZohTeren, MTPIT AW T TS 35 mA I
ggobmmad. mmdd B g ddab

Options :

70819152021, 7
70819152022, U-875
70819152023, -5

70819152024, 3.5

Question Number : 17 Question Id : 70819115620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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[n the given figure, the energy levels of hydrogen atom have been shown along with some
transitions marked A, B, C, D and E.

The transitions A, B and C respectively represent :

+eV
oo Continuum = g 7
C2 1L =il
n=>s —054 eV
n=4 —0.85eV
n=3 . —151 eV
gl € |p
n=2 : —34eV
A F
n=1 —13.6eV

Options :

The first member of the Lyman series, third member of Balmer series and second member
70819152025. of Paschen series.

The ionization potential of hydrogen, second member of Balmer series and third member
70819152026. of Paschen series.

The series limit of Lyman series, second member of Balmer series and second member
70819152027. of Paschen series.

The series limit of Lyman series, third member of Balmer series and second member of
70819152028, [laschen series.

Question Number : 17 Question Id : 70819115620 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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DBOT BIWY, FWRRT TTIRRIT IIMERYD, §oF A B,C D IR E 20w
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S b S
=3 —0.54 eV
=4 —0.85eV
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gl € D
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A E
n=1 —13.6eV
Options :
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70819152025. e
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Swedse A0,
70819152026. U
'59533 Aoedod HOS 08, T’ UL 0B ATF, DB WAT AO0D FTHe
.t
70819152027. o
ﬁ.ﬁﬁ 020 T39;
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Question Number : 18 Question Id : 70819115621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :
Statement 1 : Two photons having equal linear momenta have equal wavelength&

Statement Il :  If the wavelength of photon is decreased, then the momentum and energy
of a photon will also decrease.

[n the light of the above statements, choose the correct answer from the options given below. .
collegedunias



Options :
70819152029, Both Statement I and Statement Il are true

70819152030. Both Statement I and Statement 11 are false

70819152031. Statement 1 is true but Statement 1l is [alse

70819152032 Statement 1 is false but Statement 1l is true

Question Number : 18 Question Id : 70819115621 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
91 QU BeednvR, SRBONT

Fewdl A SeDeod \BO mmmm& TROODVT TR PREDDAD D
gomeozTRvD, TBROOWLES.
Bewd Il : FocmdT I00mOITH IRHNRTT, FRRAT Wom JoARR DR

E‘éiﬁ%‘«: IRB FRTOTNLTIE.
eda ﬁf@ﬁﬁ%ﬁ'm& mﬁﬁg@dﬁd@o& 39N ecxi;ri@;e;__ Tooing wﬁdsﬁi =02,

Options :

70819152029 Tewd | D Jewd 1l 20B» =0

70819152030, 2 7¢ 1 30D, Hewt 1 S0do 3T

70819152031, e o

Teed 1 3T
70819152032. =

Question Number : 19 Question Id : 70819115622 Question Type : MCQ Optinn Shufflinna - Vac

Is Question Mandatory : No gcollegeduniaa



Correct Marks : 4 Wrong Marks : 1

The focal length f is related to the radius of curvature r of the spherical convex mirror by :
Options:

70819152033, /=T

70819152034, /= T

f=-5
70819152035. =

=t
70819152036. 2

Question Number : 19 Question Id : 70819115622 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

needeod LETENRRTT AONED TR ‘f 25T 3k, r BR3N TRODTT FoWOTF) :
Options :

70819152033, /=*

70819152034, /= T

F==3
70819152035. 2

e —
70819152036. 2

Question Number : 20 Question Id : 70819115623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1 QCO“eged“"'a



In a Young's double slit experiment, the width of the one of the slit is three times the other
slit. The amplitude of the light coming from a slit is proportional to the slit-width. Find the
ratio of the maximum to the minimum intensity in the interference pattern.

Options :

70819152037, 4:1
70819152038, 2: 1
70819152039, 1:4

70819152040, 2 : 1

Question Number : 20 Question Id : 70819115623 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

SRTTED, BT, $0RN0T WHIHT BYsT ooy soROD 8Nog SeTNTRITYRIT.
TMOT, H3e806 TLODOT MO WB) BT JeTINY YIDIT) :

CROMTD §) AR08 ToIRNTY, WRYRTTUL LOW 0RO HNO) -ﬁa;if-.:%om FoROD

Options :

[

70819152037, 4:

(=

70819152038, 2

e

70819152039. 1:

—

70819152040, 3 :

Physics Section B

SectionId : 708191581 .
collegedunia:



Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2

Online
Mandatory
10

5

20

Yes

1
708191861

Yes

Question Number : 21 Question Id : 70819115624 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coefficient of static friction between a wooden block of mass 0.5 kg and a vertical rough
wall is 0.2. The magnitude of horizontal force that should be applir_-d on the block to kr_-ep it

adhere to the wal willbe N,

[g=10 ms~2]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 21 Question Id : 70819115624 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0.5 kg To50D 200 T ), A LTET LOWRALECD BT ARl TEF 08 0.2
GNT. DOT Q0D NRGRH BOLIRMTOZ LRBODL WRME 8% WOT TR0

[g=10ms 2]

Response Type : Numeric

.
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819115625 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An unpolarized light beam is incident on the polarizer of a polarization experiment and the
intensity of light beam emerging from the analyzer is measured as 100 Lumens. Now, if the
analyzer is rotated around the horizontal axis (direction of light) by 30" in clockwise direction,
the intensity of emerging light willbe __ Lumens.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 22 Question Id : 70819115625 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

HeF0RT FoRnDY, Bpodns® Hied YHAFZ BYIT MonTD, STRITARAT W)
QFeTOOT TRTARAT L¥ET TonT Semodd, 100 RDBIFNYOD ©¥¥3 IRART. 8N
sagjmm% b @35 (D933 Feg) =3 30° @di{éﬁcd:mﬁ ASATT, BLRTALMT WIS
degBodw ___ woadd

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

.
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Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819115626 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A ball with a speed of 9 m/s collides with another identical ball at rest. After the collision,
the direction of each ball makes an angle of 30° with the original direction. The ratio of
velocities of the balls after collision is x : y, where x is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819115626 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

&3 9 m/s 3 BIMIWT BOBHOD AFLHODIWP YoTTTe YOGRM B3, BREWST. &Y
TRET F03T Q0BRR BOWNH WeTED ua_”m% C:J%ﬁﬁ 30° dreeaTy) aaf)xhgm E@%ﬁ TRED
H030 Womny wenny LMY x:y €0 1 F WY &hd.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819115627 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.
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A hydraulic press can lift 100 kg when a mass ‘m’ is placed on the smaller piston. It can lift
. __ kg when the diameter of the larger piston is increased by 4 times and that of the
smaller piston is decreased by 4 times keeping the same mass ‘'m’ on the smaller piston.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819115627 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Lo TWIF TFTIQNX Ay AT Wed THORd ‘m’ YQVATRN ©m 100 kg oD,
e~ ~ : f ~ 8

2
B
QTVYT. [P LITFT TATW, 4T TRDIRE, BT BT TITW, 4T TRIRE,
. i 2 . & : G % : b
NEY QAT WO wHe & m D, YoAmN B @mOF TFAT kg Dod0DE,
3 -, 8 ~ o

X

QSWID.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819115628 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An inclined plane is bent in such a way that the vertical cross-section is given by y = T

where y is in vertical and x in horizontal direction. If the upper surface of this curved plane
is rough with coefficient of friction p=0.5, the maximum height in cm at which a stationary
block will not slip downward is cm.

Response Type : Numeric

:
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 25 Question Id : 70819115628 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

2
X HCAT T i : -
— Q0L @Gi (An Eﬁiﬁﬁ? FOR02 AN,

2,00 LT AWDIOT [PWTD, ¥

l

BY y oow OB WA 133 ORMRND. 8 T AMWIOT Wed ;) LORND, BRSN ©T0

=

TaFH0%y) p=05 870, oW aazf_, é:ﬁm 39N HOT00LN LeTmT nu% wqu
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819115629 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A resonance circuit having inductance and resistance 2 x10 4H and 6.28 0 respectively
oscillates at 10 MHz frequency. The value of quality factor of this resonator is .

[w=3.14]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText
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Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819115629 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

gaen 2x1074 H 3@ 6.28 () Fe08d & Seegatdd w.omh emons dorusy) sl
10 MHz 3¢ S00RewRRANEGET, 8 ¢TI WOBOT MEYIE €03y .
m=3.14]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819115630 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An audio signal v =20 sin 2w(1500t) amplitude modulates a carrier
v.=80 sin 2(100,000t).

The value of percent modulation is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819115630 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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v, =80 sin 2(100,000t) oTE FOEODI, L0 IJ@ee [0 vy, =20 sin 27 (1500t) 020 a0
. 3 =) :

STRIFINRYAT. IeFREWT
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819115631 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In connection with the circuit drawn below, the value of current flowing through 2 k()
resistoris  x10"%A.

VA
1k0

p-
2 k() sy
/|

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819115631 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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9N QRIS a:oca'@t; AOWORAT0E, 2k() DRedyY OIS HWIFTTTT LoD

x10-4 A A
WA
1kl
A
2K sy

i |

H

10V

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819115632 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

An electromagnetic wave of frequency 5 GHz, is travelling in a medium whose relative electric
permittivity and relative magnetic permeability both are 2. Its velocity in this medium is
%107 m/s.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819115632 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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TOTE LRFE0T D) FeT FPOS0D WIFINFOET WO 2 SNWT LW BRFITY
ez& 5GHz 20 waef a"o&fsm. 3donined B[O 28R, IRFITY AWF TWoIeoD
suonnﬂa =en x10” m/s &R,

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819115633 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A common transistor radio set requires 12 V (D.C.) for its operation. The D.C. source is
constructed by using a transformer and a rectifier circuit, which are operated at 220 V
(A.C.) on standard domestic A.C. supply. The number of turns of secondary coil are 24, then
the number of turns of primary are

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819115633 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

LOT BB '5 Jeciee QAT 030 L‘Tﬁ 12V g3 DC deworb3d. @ wesod
220 VAC Namu,waj ALEN z *bmaﬁ DAEN) ‘:)..-.&aj‘ﬂﬁ mom n@;'i. u; DC eﬁaaaﬂ
VNFARAT., TOW[IFIT &éfm ***“%»m@ 24 BMBATHCIRTG, m AV levEleveldot
BN rqo:,:;

Response Type : Numeric

Evaluation Required For SA : Yes
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Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
SectionId: 708191582
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 708191862
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819115634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the follf}wing are isostructural pairs ?

A. 50__13 and Cer
B. SiCl, and TiCl,
I‘*JH3 and N’D3

et
D. BCl; and Br(Cl,
Options:

70819152051, “* and B only

.
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70819152052, ** and Conly

70819152053, © and C only

70819152054, © @nd D only

Question Number : 31 Question Id : 70819115634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

B FYNBPYNYY .00¢ TWRoD Breednth cdRRP) 7
K. S50 SN CrO,?

B. sid, =& TiCl,

C. NH; =2 NO,

D. BCl, s& BrCl,

Options :

A3 Bowe,
70819152051. = e

Az

70819152052 b e

LCr

70819152053, b =% C @58

C=3 D 338
70819152054. b= 5

Question Number : 32 Question Id : 70819115635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
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In Freundlich adsorption isotherm, slope of AB line is :

B
T 5 /
" |E >

logP —»

Options :

n with (n, 0.1 to 0.5)
70819152055.

20819152056, 108 N with (n > 1)

Ingl with (n < 1)
70819152057. B

L with | 1 =0to1
I

70819152058. ™ 4

Question Number : 32 Question Id : 70819115635 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FOTOF LDIRCAR ATTDLONY, ABTes0odh TpHredodd :

! %‘*/

;-;|ﬁ -

- L

logP ——
Options :

n#ed (drodhz) IFPonw (0.1 20T 0.5)
70819152055. e
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logn 222 n>1

70819152056.
- ——
log— ¥rZn<l
70819152057. "
B |
— B8 — =0a0T1
70819152058. ™ n

Question Number : 33 Question Id : 70819115636 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Consider the elements Mg, AL S, P and Sj, the correct increasing order of their first ionization
enthalpy is :

Options :

70819152059, Al <Mg<Si<S<P

70819152060, Mg < Al <Si<P<S

20819152061, M8 <Al <Si<S<P

70819152062, 1 <Mg<S<Si<P

Question Number : 33 Question Id : 70819115636 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= ma:ne;a:% mméa,mg,m,s,rmi Sin¢ TP Yoeleste 0Ny KO0IRT W3

INY ¢

Options :

70819152059, Al <Mg<Si<S<P

.
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70819152060, Mg < Al <Si<P<S

70819152061, Mg <Al<SI<S<P

70819152062, Al <Mg<S<Si<P

Question Number : 34 Question Id : 70819115637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following ore is concentrated using group 1 cyanide salt ?
Options :

70819152063, —alamine

70819152064, Malachite

70819152065, ~iderite

70819152066, “Phalerite

Question Number : 34 Question Id : 70819115637 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

39NT odE YT, o 10 Zobd @ omeR®), twEcdeend HwOes0RcRmHD ?
Options :

70819152063. "

; £ fok T gt H
WOTEF (W) gcollegedumag

70819152064.



70819152065.

70819152066.

Question Number : 35 Question Id : 70819115638 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(A) HOCI+H,0, - H,O*+Cl~ +0,
Choose the correct option.

Options :

70819152067 H,0, acts as oxidising agent in equations (A) and (B).

70819152068 H,0, acts as reducing agent in equations (A) and (B).

20819152069 H-0, act as oxidizing and reducing agent respectively in equations (A) and (B).

20819152070. H,0, acts as reducing and oxidising agent respectively in equations (A) and (B).

Question Number : 35 Question Id : 70819115638 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(A) HOCI+H,0,—=H,0" +C1™ +0,

B) L+H,0,+20H~ —2I" +2H,0+0,

AO0IRT LoRoHT, SOAD.

Options :

Hzozamqﬁ?ﬁ' F0T@N 80N (A) 3D oD (B) oG ISFRmTR.

:
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H,O, ©T8®rs 5908000 805 (A) 3 80D (B) obd) SSrmamd.
70819152068. = = ! i ik

H,0, tw3sirs o080 Sd) vTtars soodmen shmen 30D (A) & (B) nvg

70819152069, 2F I,

H,0, SZ3ar 8N B3 QITFEmN HaN 300 (A) DD (B) 199 FIrDIR.
70819152070. = = :

Question Number : 36 Question Id : 70819115639 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AL O, was leached with alkali to get X. The solution of X on passing of gas Y, forms Z.
X, Y and Z respectively are :

Options :
20819152071, <= NalAlOH)], Y=50,, Z=Al0,

70819152072, X=AlOH);, Y=50,, Z=AL0;.xH,0

70819152073, ~=AlOH);, Y=CO, Z=AlL0;

70819152074, NalAl(OH)y], Y=C0,, 2=AL0;.1H0

Question Number : 36 Question Id : 70819115639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ALO; 00, RUTRLOON $TPOT FRAA X WD, XRIERY Y LROTH, TWITY
Z 30RO, TmEs X, YII 210 TN
Options:

20819152071, <= NalAlOH)], Y=50, Z=AL0,

:
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70819152072, X=AlOH);, Y=50,, Z=AL0;.xH,0

70819152073, X AUOH)y, Y=COy Z=AL0;

70819152074, < NalAl(OH)y], Y=C0O,, 2=AL051H0

Question Number : 37 Question Id : 70819115640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The electrode potential of M2* /M of 3d-series elements shows positive value for :
Options :

70819152075. Fe

70819152076, €O

70819152077, 21

70819152078. Cu

Question Number : 37 Question Id : 70819115640 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3d-modoDd AN sﬁmédfj.m;ﬁ M2+ /M T m’af:‘.;q ﬁma%ﬁmm:d& :
Options :

70819152075, Fe

70819152076. C©
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70819152078. Cu

Question Number : 38 Question Id : 70819115641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major components in “Gun Metal” are :
Options :

70819152079, Cu, Snand Zn
70819152080, Cu, Zn and Ni

70819152081, Cu Niand Fe

20819152082, 1 Cu, Mg and Mn

Question Number : 38 Question Id : 70819115641 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

N SREBTYOD T FLIBNSO :
Options:

70819152079, W SM R, Zn

Cu, Zn 253y Ni
70819152080. =

70819152081, Cu N1 =03 Fe

70819152082, Al Cu, Mg =223 Mn

.
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Question Number : 39 Question Id : 70819115642 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The gas released during anaerobic degradation of vegetation may lead to :
Options :

70819152083, “cid rain

70819152084. Global warming and cancer

70819152085. Corrosion of metals

70819152086, ©zone hole

Question Number : 39 Question Id : 70819115642 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AE, Bomdd (FRuT) Mol TLE QPUHoRY olRME YAV "‘&dﬁ; ORI

o

Options :
70819152083, “ERY
TondT BacHedF DB ©LNED Ceen
70819152084, RIS EALCHRCES SIS SEOENE TR
dremng 308, HLROWT
70819152085. 3

70819152086, XERET* 3RTMVLT

Question Number : 40 Question Id : 70819115643 Question Type : MCQ Op .
Qcollegedumag
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compound gives pink colour on reaction with phthalic anhydride in
conc. H,50, followed by treatment with NaOH ?

Jonhd

70819152087, HO

Options :
CH,

70819152088.

708191520809.

CHj,

70819152090.

Question Number : 40 Question Id : 70819115643 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3¢NT 0T Roowdy Twe HS0,3Qod mOF ¢a'gd @ieoln I3FAT hmad
NaOH @, Ae0AT0 Mo wegsad, AP,

HO

Options :

70819152087.
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70819152088. OH

HBC :@:\/ CHE-

708191520809. HO 2

HO

SO

CH,

CH;

70819152090.

Question Number : 41 Question Id : 70819115644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CH CH
NN, 7

What is the major pmduct formed b}-’ HI on reaction with

CH,
CH;
Options :
CHs
CHy—C—C CH,I
70819152091 CH; H
CH,
CH; —C— CH— CH,
I CH,
70819152092 ‘
70819152093

.
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CH; —C—CH—CH;
CH; 1
CH, CH CH CH,— CH,4
70819152094 - I

Question Number : 41 Question Id : 70819115644 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

CHi;~_ _ _-CH
HIdro0m :,':'1-”/ NCH, P TEFATRN LLOLRME [T LIS 9
CH, ‘
CH,
Options :
CH,
CH; —C—CH— CH,l
70819152091, e
CHj

70819152092.

CH,

70819152093. 3

.
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CH3 — CH — CH—CH,— CH,

o

70819152094, s

Question Number : 42 Question Id : 70819115645 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following reagent is used for the following reaction ?
CH;3CH,CH, L} CH,CH,CHO

Options:

20819152095, Copper at high temperature and pressure

70819152096, Molybdenum oxide

70819152097. Manganese acetate

Potassium permanganate
70819152098.

Question Number : 42 Question Id : 70819115645 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
83 godren FYNT OIRT LPTVTTTW, LTdReNBB[ ?
CH;CH,CH,4 - . CH4;CH,CHO

Options :

70819152095, TR WWEE T I LIFNYY

70819152096, “PORBIRF S8

.
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3 o e,
20819152097 FG“‘MEN B8 2 IERT

20819152098, RCETDR0D0 TWO RO H5eEs*

Question Number : 43 Question Id : 70819115646 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The pmduct formed in the first step of the reaction of

Br
|
CH; —CH, —CH—CH,; —CH—CH; with excess Mg/ELO(Et=C,H;) is
|

Br
Options :
CH, —CHy—CH-—CH;—CH—CH,
CHa— CH—CHy—CH—CH,—CH
70819152099. 3 2 2 3
CH,
cr—cn |
70819152100. CH— CH,
CH3— CH,—CH—CH,— CH— CH,
CH3— CHy— CH— CHy— CH—CH,
70819152101. 2 :
E-'IgBr
|
CH,CH,— CH—CH,— CH—CH,
|
70819152102. MgBr

Question Number : 43 Question Id : 70819115646 Question Type : MCQ Op
collegedunla
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Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Br
|
CH; —CH,—CH—CH,—CH—CH; ®R3 E"&g!fi Mg/EtLO(Et=C5H:) Iﬁcﬁg AedAton 5@&
| &
Br

TOBTY TOIRTATOD YISO :

Options :
CH;—CH,—CH—CH,—CH—CHj
(o Oy 3 (O = DR - Ty - (N, |
70819152099. 3 2 2 3
CH,
cH;—cn |
70819152100. CH— CHj
CH;— CH,—CH—CH,—CH—CHj
CH = CH— O = OHy=—CH-~CHj
70819152101, 2 -
MgBr
|
CH;CH,—CH—CH,—CH—CH;,
|
70819152102. MgBr

Question Number : 44 Question Id : 70819115647 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

What is the final product (major) ‘A’ in the given reaction ?

OH
CH;

CH
\\\“CI l HCI ‘A’

(major product)

Options: Qcollegedunia;



Cl

CH,
CH
NM“{Hﬂg
70819152103,
CH,
70819152104,
CH,
CH
x&“c113
70819152105,
CH,
€l
CH,— CHj
70819152106.

Question Number : 44 Question Id : 70819115647 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

"‘*‘EEF‘* FODONY WTWH YOS (TEND) J“uEé ‘A olRJE 9

Options:

70819152103.
gcollegeduma



Cl

CH,
CH
\M“{Hﬂg
CH,
70819152104,
CH,
CH
xﬁ“c113
70819152105,
CH,
€l
CH,— CHj
70819152106.

Question Number : 45 Question Id : 70819115648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Identify products A and B.

CHj
ﬂ/ dil. KMnOy CrOy
g O A > B
Options :
CH, CH;,
A OH B:
70819152107. OH O

.
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CH, CH,

A OH B: OH
70819152108. OH )
CH,4 CH,
NG ¢
70819152109, OH O
O 0
[ I
A : OHC_CH,CH,CH,—C-—_CH. B : HOOC—CH,CH,CH,—C_CH
70819152110. 2202 3 2CHCH) 3

Question Number : 45 Question Id : 70819115648 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
IT NS A DI B obad, S0,

CH,

Ql/ BHwWFe KMnOy CrO;
> A > B
Options :
CH,4 CH,
A OH B:
70819152107. OH O
CH, CH,
A OH B: OH
70819152108. OH O

laeiiiag

70819152109. .
collegedunias



0 O
I I

A OHC —CH,CH,CHA—C—CH, B : HOOC —CHCH,CH,—C—CH
70819152110. Gl e 3 2CH,CH, 3

Question Number : 46 Question Id : 70819115649 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the following reaction the reason why mefa-nitro product also formed is :

NH, NH, NH, NH,
._ NO,
Cone. HNG,
Bt > + +
Conc. H:ﬁ{_}4, 288 K
NO,
NO,
[A] [B] [C]
51% 47 % 2%
Options :
70819152111, NH, group is highly meta-directive
—NO, substitution always takes place at mela-position
70819152112, = g

70819152113. Formation of anilinium ion

low temperature
70819152114.

Question Number : 46 Question Id : 70819115649 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
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NH, NH, NH,
_ NO,
Two HNO, " 3
T H,50, 288K
NO,
NO,

[A] [B] [C]
51% 47% 2%

DedT sobonQ, Dee-FBae WIo IRB IIRTMPYTE, FTR) :

Options :

= WO &OT DiE-nGer Besnn.
20819152111, W, TROT ©L8 SDLP-R0F 38NT

-NO, T2 TFod olemenon iv-mangode ey,
70819152112. T @

70819152113, ERORODTT YOI FoIWTURHT.

iy FaEamn
70819152114, o= SUI[RE.

Question Number : 47 Question Id : 70819115650 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

‘A’ and ‘B’ in the following reactions are :

NH,

NaNQO, /HCI (A) SnCl,/HCl/H,O*
B
KCN

r 4

Options :
+ s
N,Cl Cl
(A): (B) :

70819152115. )
gcqllegedunlag



N,Cl CHO
(A): (B)
70819152116.
CN &
(A): (B) :
70819152117.
CN CHO
(A): (B):
70819152118.

Question Number : 47 Question Id : 70819115650 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g¥Na 3olneg ‘A’ @& ‘B -

NH,
NaND?;'HCl N 5nCl,/HCl/H,0* » (B)
KCN
Options:
+ Wil —y
N,Cl Cl
(A): (B) :
70819152115.

.
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N,Cl CHO
(A): (B)
70819152116.
CN Cl
(A): (B) :
70819152117.
CN CHO
(A): (B):
70819152118.

Question Number : 48 Question Id : 70819115651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match List I with List IL.

List 1 List 11
(Monomer Unit) (Polymer)
(a) Caprolactum (i)  Natural rubber
(b) 2-Chloro-1,3-butadiene (i) Buna-N
(c) Isoprene (iii) Nylon 6
(d) Acrylonitrile (iv) Neoprene

Choose the correct answer from the options given below :
Options:
20819152119, (@) = (), (b) = (ii), (¢) — (iii), (d) — (iv)

70819152120, @ = (i), (b) — (iii), (¢) — (i), (d) — (i)

70819152121. (@) — (i), (b) — (i), (¢) = (iv), (d) — (iii)

:
gcollegeduma;
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70819152122, (@) = (iii), (b) — (iv), (c) — (i), (d) — (ii)

Question Number : 48 Question Id : 70819115651 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

mg = 135.,'“33 mg =M mﬁ,‘ THROBRKO.

ﬁ&é -1 5&5 - 11
(FRBRTHTT PuE) (TROTHTF)
(a) TWTRLIDT (i) Agpeus SuoT®
(b) 2-BRetre-1,3-w)E50E,B7 (ii) WT-FT
(c) DRReLT (i) T[T 6
(d) ©gdnedis o (iv) RoleedeT

g aekchs eﬁﬁ@;’@__ ToCiRG wga:m% &020.

Options :
708191521109. (@) = (1), (b) — (ii), (c) — (iii), (d) — (iv)

20819152120, @) = (iv), (b) — (iii), (c) — (i), (d) — (i)

70819152121, @) = (i), (b) — (i), () — (iv), (d) — (ii)

70819152122, (@) — (iii), (b) — (iv), (c) — (i), (d) — (ii)

Question Number : 49 Question Id : 70819115652 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Out of the following, which type of interaction is responsible for the stabilisation of a-helix
structure of proteins ?

Options :
70819152123. vander Waals forces

:
gcollegeduma;
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70819152124. Covalent bonding

70819152125. lonic bonding

70819152126, Hydrogen bonding

Question Number : 49 Question Id : 70819115652 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SONIYNIY R TR a-BOBOR (BOF) Drdod 4TI HTMOIRILT L3R
(203T30)00 OFT) 9

Options:

™D i TS ayemen
70819152123, P00 B0 WIS WOND

e
70819152124, SRIREO0W WOG

70819152125, POIRATF 205

TBRLET woy

]

70819152126.

Question Number : 50 Question Id : 70819115653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  Colourless cupric metaborate is reduced to cuprous metaborate in a luminous
flame.

Statement II :  Cuprous metaborate is obtained by heating boric anhydride and copper
sulphate in a non-luminous flame.

In the light of the above statements, choose the most appropriate answer from the options

given below. .
collegedunias
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Options :

70819152127, Both Statement I and Statement 11 are true

70819152128. Both Statement I and Statement 1l are false

70819152129. Statement 1 is true but Statement 1l is false

70819152130. Statement | is false but Statement 1l is true

Question Number : 50 Question Id : 70819115653 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

39 Q0B Fevdnva, DeBEINT.

BevBl:  wepthd DAF DRLRCHD, TRIDRS WEoDY CTIAFAN RIF
Stpdreder Y.

Feedll: TRILIT @OeLY dA0T SFTEE DR AT AW, WERAT
RIF Dol BEoDOINT.

eI Devdnva, MR, XOIRE LITIW, F9NT BoRYNYY SO0,

Options :

Fewd Iz Rewd Il 0TURR Dzsone.
70819152127. =

P
El,

70819152128, Xt¥8 e Beed Ll oTEe Tamn

2e2d | 50ciNTG =gt 2eed 11 2znd.
70819152129. e

20819152130. dtvilaﬁﬁm =SE0 deed 1 Dmmons.

. . collegedunias
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SectionId :

Section Number :
Section type:
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required?:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 51 Question Id : 70819115654 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4.5 g of compound A (MW=90) was used to make 250 mL of its aqueous solution. The
molarity of the solution in M is xx 10 ! The value of xis

nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819115654 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

4.5 g HOOMTI, evmaieeid (A) (MW=90)250 mL 3 xOeod mozn 0ind INAT.
¢ m@es Sem0i M 39 xx107Tend. x3 ddom

TREFNRSR)

Response Type : Numeric

708191583
4

Online
Mandatory
10

5

20

Yes

1
708191863

Yes

. (Rounded off to the

(Rede3 IL.EEFC‘EE&

.
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Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819115655 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The coordination number of an atom in a body-centered cubic structure is __

[Assume that the lattice is made up of atoms.|
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819115655 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

TOORNFEONE T THIoNY ICTREVLT AWJOW FoLBJoIw
[0 TORRERNLR0T BRWULT Q0T FTONA.]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

.
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Question Number : 53 Question Id : 70819115656 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A proton and a Li®* nucleus are accelerated by the same potential. If A ; and A, denote the

de Broglie wavelengths of Lit and proton respectively, then the value of ﬂ is ¥x10° 1L,

A
P
The value of x is . (Rounded off to the nearest integer)

[Mass of Li** =8.3 mass of proton]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819115656 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
Lom FeeRT W, Lt Apfohrnvay, wode QFEny SenecgarInavicend.

A
Ay 0 }‘P neh) gemen Litt o Senmas 8 mhe 3comodtnvend, Tamad FHL
- — . — T 4 P

SPOZrx1W0~L 13 o . (AWedT TREF0IE BROFALTZ)
(Li** 3 Oodo = 833 HnetRT Td)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

:
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Question Number : 54 Question Id : 70819115657 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

For the reaction ﬁ& i) By, the value of the equilibrium constant at 300 K and 1 atm is equal
to 100.0. The value nt A ébmr the reaction at 300 K and 1 atm in ] mol ~! is — 1R, where x is
.. (Rounded off to the nearest integer)

[R=8.31] mol 'K~! and In 10=2.3)
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819115657 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

0BT A eB(g}eda’,xm&ﬁwa AONTV0ET 0O @ 300 K3y 1 atm v 10008,
&:ﬁ“l?@,& 300 Ke2d 1atm 9 AGod IR 3] mol 139 —-1R€:¥ﬁt§ TomTO x Q
. (meneE B "‘EFOEE TROAFMRYI Q,E..)

(&3 : R=831] mol~'K 1:),33111 10=23)

24 2'[

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819115658 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.
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When 9.45 g of CICH,COOH is added to 500 mL of water, its freezing point drops by 0.5°C.
The dissociation constant of CICH,COOH is x X 10 3 Thevalueofxis . {Rounded
off to the nearest integer)

(K 1,0)=1.86 K kg mol ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819115658 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

945 g @), CICH,COOH &, 500 <nde I, de0ri AedATIN, BTT FASTD WOW)
05°C oha @vodngkm, CICH,COOHS acieexm dobZe0ds) xx107% xF ddom
. (mu. *XF TREVFOTE TRRFARYARD) [Kpyy =186 Kkg mol 1]
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819115659 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

At1990K and 1 atm pressure, there are equal number of Cl, molecules and CI atoms in the
reaction mixture. The value of K] for the reaction (_Ij = X I under the above conditions
is xx 10~ L, The value of x is _ . (Rounded ch]f to the neareqt integer)

Response Type : Numeric

Evaluation Required For SA : Yes

:
Qcollegeduma;
India’s largest Student Review Platform



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819115659 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1990 Kb 1atm2.383Y, $050a03n Chwrny @3 (lodameany 20250 Xamnd.

o
Clygy= 2Cg)

YO ANTY, 300D K},:p-"aa;,@xx 10" L xS ddodd . (Rweas TRTFOTY
TREFNRIDZT)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819115660 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The reaction ol sulphur in alkaline medium is given below :
5&:5}+ a OH +d HED“}
The values of ‘a’ is

— b S ()t 5,057

(aq) aq)

(Integer answer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers : Qcollegeduniag



5 to 5.001

Question Number : 57 Question Id : 70819115660 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
AOTE $03080 FOOH JIRFTRY FYNTOZ DeBRNG.

2 2
Sgey+a OH™ ) — 3 b ™ 0 +¢ $,0,7" 0 +d Hy0),

‘A’ dgo . (ANeLT TRTOFOFY, TRHBFARSDZID)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 58 Question Id : 70819115661 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Gaseous cyclobutene isomerizes to butadiene in a first order process which has a 'k’ value of
33%10~4's~1at 153°C. The time in minutes it takes for the isomerization to proceed 40% to
completion at this temperature is . (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819115661 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

.
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TP TEF S0H0NY YAOTRTE X BRCUET AHRONCTTHRNAOR LIIRE [T AR,
= ~ : g ¢ g O
9r0 'k SPog) 153°C3933x10 15 19d. wde RTTY BRTONEFTE TREFTIRYLD

ge. 40T w0eohdeRaT0 INWEHWS FMWOD ANIMYY _ (RNELT TRTFOT,
TREFNRIDZI)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819115662 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Number of amphoteric compounds among the following is =
(A) BeO (B) BaO (C) Be(OH), (D) Sr(OH),
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819115662 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

TNTINTY S Eﬂﬂ'ﬁ' HookENY ?:'o:.:':g; _____ .

(A) BeO (B) BaO (C) Be(OH), (D) Sr(OH),
Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes ¥ collegedunia



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 60 Question Id : 70819115663 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
The stepwise formation of [Cu(NH,) 4]2 " is given below :

Cu®* + NH; == [Cu(NH3)[**

. - A4 Ks s +
[Cu(NH;)]™" + NH; == [Lu(NH;;lzJE

K3 2+

[Cu(NHy ), |2 + NH; [Cu(NH; )3]

[CU(NH:H;SF* F NHj S |Cu(NH; 34]2*

The value of stability constants K, K,, K, and K are 104, 1.58 x10%, 5x10% and 102
respectively. The overall equilibrium constants for dissociation of [Cu(NH,) 4]2* isxx10-12,
The value of x is (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819115663 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.
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[Cu(NH,),J** & 3037080303, Be3-Togmn 9t DeBeNG.

s K i
Cu? + NHy === [Cu(NH;)[

24

- e .
[Cu(NH)[™ + NHy =2= [‘LU(NHE)EJE

2

. " y .
[Cu(NH;), | + NHy === 1Cu{NH3)3]2

I 74 K i
[Cu(NH;)3 " + NHy —2= 1CU{NH3J4J2

0% obhzonvd K, K, Ky D& K, ¢ aPorise 3mn 104 158x10° 5x10° H&)
102 900y, [Cu(NH,),J>* ob Qoieesdmn wind Famdecos dod3eosy) xx 10~ 12¢nd.
Tt 1 SR0F . (AiDeaE TAFRFOTY TRFIRIAZM)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A
Section Id : 708191584
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Mark As Answered Required?: Yes
Sub-Section Number : 1

Sub-Section Id : 708191864 Qco“egeduniag



Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819115664 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
X

{1} = R be defined as g(x) =
x=-1

3| =

Letf: R — R be defined as f(x)=2x-Tand g: R

Then the composition function f(g(x)) is :

Options :

70819152141, ©ne-one but not onto

70819152142, onto but not one-one

70819152143 neither one-one nor onto

70819152144. both one-one and onto

Question Number : 61 Question Id : 70819115664 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X

3 | —

03T, f:R — R 00T fx)=2r -1 023, g:R - {1} - ReRWMRT g(x)=
o= o o i =0 o o o T

o1l QuZFENY "ocdeexd fg(r)) o :

—_

Options :

NFT-WT SWO

soeers SA®
70819152141. o

ENEOD ST WF—

70819152142.

70819152143.

AT ShY

DI-DTF) VY Wevnmp UQ

.
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AT, L :.,3_.: SO NOBER eﬁ:ﬁﬁ

70819152144.

Question Number : 62 Question Id : 70819115665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let p and q be two positive numbers such that p +q=2 and p4 | q4= 272. Then p and q are
rools of the equation :

Options :
4 y gl
70819152145, ¥~ 2x 1136=0

L -
70819152146, ¥ 2x t16=0

B i
70819152147, ¥ 2x18=0

-

70819152148, *

Question Number : 62 Question Id : 70819115665 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
p msi q QTR q’maéﬁ Ko, “sﬁtﬁ%ﬁ. TMTC pH q=2,p4 I q4=2?2 S0 p 5:3,; q
RRONG TeNeF0RT)

Options :
4 y gl
70819152145, ¥~ 2x 1136=0

L -
70819152146, * 2X 116=0

- S i
20819152147, X2~ 2x+8=0 M collegedunia



-

rd . Ve L —
70819152148, *  2xX12=0

Question Number : 63 Question Id : 70819115666 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The system of linear equations
3x—2y—kz=10
2x —4y—2z=6
x+2y—z=50m

is inconsistent if :

Options :

70819152149.

70819152150.

k=3m=+
70819152151.

0| He

+ 3
70819152152, & * % meR

Question Number : 63 Question Id : 70819115666 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
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:%m:ao:a‘:c% XOYTe00 ReNeFoRANTRT
3x—2y—kz=10
2x —4y—2z=6
x+2y—z=5m

=208 =Snd
o 3

Options:

70819152149.

70819152150.

k=3 m=#
70819152151.

U =

+ 3
70819152152, &= % meR

Question Number : 64 Question Id : 70819115667 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of

PCy + 2C, - 3¢ + - - 157C;5 + ¢y + MG + M0 + - + Moy B8
Options :
16
70819152153, 201

70819152154, 217 14

13
70819152155, 2~ 13

21-1
70819152156.

.
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Question Number : 64 Question Id : 70819115667 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-Bey + 2P0, - 3P0 + - 18705 + My + M + 0 + v + Mgy uT
Options :
16
70819152153, 2 1
13 /
70819152154, 2~ 14

13
70819152155, 2~ 13

=14
70819152156, -~

Question Number : 65 Question Id : 70819115668 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ ol 4 [ | :
|\'H‘.‘i_x+t'1.‘:'i s 1 ..“1_\1_;? 1)

If e ~satisfies the equation t2-9t+8=0, then the value of

2siny m) .
L Y = e A 0{.1'{_ 15 :
sinx+ y3cosx

Options :

M| =

70819152157.

70819152158. V3

<1E

70819152159.

.
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70819152160, 2V3

Question Number : 65 Question Id : 70819115668 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

|.u1'5ﬁ'j::+ci~ﬁ4x+-.'waﬁx-!... --:||i.~};.:~2 E e H a3 E s i - E

e' O30 ReNETOR -9 +8=0 0, Egﬁmfam%m =0
2sinx T —
D{I{_ 2;,1:(:-"-.'-.:

sinx+ +/3cosx 2

Options :
5

70819152157, 2

70819152158. V3

Mo

70819152159.

E;'

70819152160.

Question Number : 66 Question Id : 70819115669 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

lj [-auw”t_] dt

. :l .
.Jilﬂ‘l‘li'1j_—-{ is equal to :
Options :
9
70819152161, 3

gcollegedunias
70819152162. DT e St e e ;



IEXY

1
70819152163. 12

70819152164. 0

Question Number : 66 Question Id : 70819115669 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

£

J(hil‘l\.‘q]l._lt

: 0 st e s B
gﬂﬁ———i;T———- 2T, B
Options :
2
70819152161, 3
3
;
70819152162. ~

1
70819152163. 12

70819152164,

Question Number : 67 Question Id : 70819115670 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

3 2
g 4x 3x .
The function f(x)= ——— — 2sinx+ (2x— 1) cosx :

6 .
collegedunia:



Options :

1
Imncreases in [Er e

70819152165.

1
decreases in [E' '”J
70819152166.

1
Increases in ( i

70819152167.

1
decreases in ( o3, _jl
70819152168.

Question Number : 67 Question Id : 70819115670 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

143 k.
flx) = % 2sinxy+ (2x— 1) cosx =% E-'“C'%F-E{Q} :
Options:
™ |
2 B
70819152165.

70819152166.

70819152167.

70819152168. chllegeduniaa



Question Number : 68 Question Id : 70819115671 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A scientific committee is to be formed from 6 Indians and 8 foreigners, which includes at
least 2 Indians and double the number of foreigners as Indians. Then the number of ways,

the committee can be formed, is :
Options :
70819152169, 1050

70819152170, 1625

70819152171, 260

70819152172, 375

Question Number : 68 Question Id : 70819115671 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

b LRTUSCORT WWd 8 &‘sdcéaﬂ:dm&v&ﬁmc& 2O :{Jaajﬁﬁ ARS0I TeHOIRMEE $ToY
EE’B% 2 FR0&oRT :;.3} Zoo&eohdhos @dtﬁdﬁ.ﬁ; sﬁdﬁéﬁbcbagd. & *::t 2300 ToBJ0D
FeLEo guRcIRRwIW 7

Options:

70819152169, 1050
70819152170, 1022

70819152171, 260

70819152172, 975 Qcollegedunia;



Question Number : 69 Question Id : 70819115672 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Iff:R — Ris a function defined by f(x)=[x 1] cos( = l}:r,whore -] denotes the greatest

integer function, then f1is :

Options :

70819152173, discontinuous only at x=1

20819152174, discontinuous at all integral values of x except at x=1

70819152175, continuous only at x=1

continuous for every real x
70819152176. g

Question Number : 69 Question Id : 70819115672 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

e ’ 2x -1 s - e w
033, f: R— R RRIAD flx)=[x-1] cos( : ],_ 29 [] g Femeros w3y, on

9
Options :

x=1 SN 2P 0N momabo
70819152173. T & s o

x=1 RN, 2 “Hheos SSodh x» v/ OD
70819152174. &l & = S

x=1 SN 03 9O S mESE
70819152175, T P M collegedunia



QR AR x N1 YU RMNIEE
70819152176. g o o e

Question Number : 70 Question Id : 70819115673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I e ’ i
. 1 sinx+ cosx : y :
dx = asin 11 ———— | + ¢, where c is a constant of integration, then
LY

b J

If 05Y— SINX
B e
8 — sin 2x

the ordered pair (a, b) is equal to :
Options :

70819152177, & 1)

70819152178, (1 3)

70819152179, (1. 3)

q
70819152180. Lt

Question Number : 70 Question Id : 70819115673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A * L o i o |
I—mﬂ R e R il Fe 29 ¢ ot wdIod Pumc-ﬁ'mﬁmgd &n
V8 — sin2x \ b 7 ' %
godon (a,b) X -
Options :
70819152177, & 1)

70819152178, (1 3)

.
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70819152179, (1. 3)

q
70819152180. Lt

Question Number : 71 Question Id : 70819115674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The area (in sq. units) of the part of the circle x> +17>=36, which is outside the parabola

y3=9x, is :
Options :

70819152181, 247 + 343

20819152182, 2™ — 343

70819152183, 127 + 33

21 '?,ﬁ

el

70819152184.

Question Number : 71 Question Id : 70819115674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TEeTT (INF LIBRITY) FET 22 +17=36 20 PNTNWLT YT BRUNT TTBOWD
y>=9x ol :

Options :

70819152181, 247 + 333

70819152182, 247 — 33

.
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70819152183, 127 + 343

70819152184, 127 — 3v/3

Question Number : 72 Question Id : 70819115675 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The population P=P(t) at time t’ of a certain species follows the differential equation
dp

- 0.5P — 450. If P(0) =850, then the time at which population becomes zero is :

Options :

loo 9
70819152185. Be

1
;If}gflﬁ
70819152186. ~

log 18
70819152187. Be

2log 18
70819152188. Be

Question Number : 72 Question Id : 70819115675 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WP - = R— .
OTTOT ADETO - = 0.5P - 450 @5 P(0)=850 odw %IF0l, P=P(t) IZod ' h
A0 BINPOT 3RBT ST wTFOBD AWML 0 SN :

Options :

.5
70819152185,  oe

.
gcollegedumag
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1
5 log,18
70819152186. ~

log 18
70819152187. OBe

2log 18
70819152188. Be

Question Number : 73 Question Id : 70819115676 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A manis walking on a straight line. The arithmetic mean of the recipmcals of the intercepts

= l i
of this line on the coordinate axes is 1 Three stones A, B and C are placed at the points

(I, 1), (2 2) and (4, 4) respectively. Then which of these stones is/are on the path of the
man ?

Options :

70819152189, * only

70819152190, B only

C onl
70819152191.

70819152192. All the three

Question Number : 73 Question Id : 70819115676 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.
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Zo¥Gesong L DT IEoRSTN ATerIE wTR Ded & Sesdod XE03T FeRod

IR . » .
ARR00H DGpeE GedE 7 oend. IR (L1), (22 DR @ 4) Bomned

A Ba®) C aow e INYR, B0RCRNT. Slnfe RWE, BT TP e

YD /R e oF 9
Options :
A =R
70819152189, =

70819152190, B =3

70819152191, & 2%

edn 20 =R
70819152192. o

Question Number : 74 Question Id : 70819115677 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The locus of the mid-point of the line segment joining the focus of the parabola y*=4ax to a

moving point of the parabola, is another parabola whose directrix is :
Options :

70819152193, *— 4

da

X=——

70819152194 2
70819152195, ¥ =Y
a
xX=—
70819152196. 2

:
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Question Number : 74 Question Id : 70819115677 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TOTOOLT BT Voman l.rz:-lax TOROODT Fonad Womhan Team DOBT QoW
TET NG, Vo) XedHT Yok na,;*cm. el dleviia) CJ.-.T‘EQ :

Options :

70819152193, *—4

a

X=-—

70819152194, 2
70819152195, ¥ =Y
a
X ==
70819152196. 2

Question Number : 75 Question Id : 70819115678 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the tangent to the curve y=x> at the point P(t, t¥) meets the curve again at Q, then the

ordinate of the point which divides PQ internally in the ratio 1 : 2 is
Options :

70819152197.

70819152198. <
70819152199.

70819152200. =

.
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Question Number : 75 Question Id : 70819115678 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

y=x & =8 Seafobds wom Pt ) 393 FIrdesd D3R, Q I TOHRIT.  8TT

P‘ [

1:2 shTR30on =030Fmn PQ o el eFI30Y umm RoWH) _

Options :

70819152197.

70819152198. <*
70819152199.

70819152200. -~

Question Number : 76 Question Id : 70819115679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The equation of the plane passing through the point (1, 2, ~3) and perpendicular to the
planes 3x +y—2z=>5 and 2x -5y -z=7, is :
Options:
70819152201, 06X 9y +2z+10=0

70819152202, 11Xty +17z +38=0

» .. B
70819152203, 0% °Y 2 0

70819152204, X 10y -2z +11=0

. . . Qcollegeduma
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Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(1,2 -3) Romgy AMWIV FNeFTHRTY WRBRENWLIT WA 3xt+y-22=5 R
7

Options :
70819152201, 0% Sy +2z+10=0

70819152202, ‘T F F YA ITAEIE=N

X p I,
70819152203, 0% Y 2 0

70819152204, 2% 10y~ 2z +11=0

Question Number : 77 Question Id : 70819115680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The distance of the point (1, 1, 9) from the point of intersection of the line

& 3 y—-4 2

lI = Jj =5 and the plane x +y+z=17 is :
Options:

70819152205, 2v19

70819152206, 192

70819152207. V38

70819152208. I8

Question Number : 77 Question Id : 70819115680 Question Type : MCQ Op gcollegeduma



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

.1'3};425_..
= T AR VO

ARITO xty+z=17 WA Geds TeHNT WO
(1,1,9) 0 ©o303) :
Options :

70819152205, 2v19
70819152206, 19v2

70819152207. V38

70819152208. I8

Question Number : 78 Question Id : 70819115681 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An ordinary dice is rolled for a certain number of times. If the probability of getting an odd
number 2 times is equal to the probability of getting an even number 3 times, then the

probability of getting an odd number for odd number of times is :

Options :

708191522009.
70819152210.

70819152211, 16

1
2
70819152212. M collegedunia



Question Number : 78 Question Id : 70819115681 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

50 QQFR BOBNY AV WO AFRID d*’é:ﬁ;ﬁ:ﬁ_,\ NTPARNT. 3 AL AW x’esj._od:si:%
TEOIND AoP@acoh3oln 2 Ao KA ?u"osi_oj:?i:% TEONH RoPWCODIN ANT ST0
©% Jond odn ©X :‘Jos:'@.,cd:si:% THEOINE RoFmReoNI0N :

Options :

70819152209. -
70819152210.

70819152211, 16

1
70819152212, 2

Question Number : 79 Question Id : 70819115682 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two vertical poles are 150 m apart and the height of one is three times that of the other. If
from the middle point of the line joining their feet, an observer finds the angles of elevation of

their tops to be complementary, then the height of the shorter pole (in meters) is :

Options :

25
70819152213.

70819152214, >0

:
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70819152215, 20v3

70819152216, 25V3

Question Number : 79 Question Id : 70819115682 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

L0 WIR0TT HITE AT T 2TTIWS HTE LOWIOWNRTR, 150 ¢, YOITTYS.

oy TINYR, F0DT Sedod W, VOHATY ) DD LJNY 2ITT HAOH,
SRIINTOT FOBMBRWTIN. STT ¥g F0uT HZTY (Wwe. TY)

Options:

70819152213.

70819152214, >0

70819152215, 20v3

70819152216, 25V3

Question Number : 80 Question Id : 70819115683 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The statement among the following that is a tautology is :
Options :
70819152217, 4~ (A v B)

70819152218, v (A~ B)

20819152219, [AA(A—B)1 > B M collegedunia



70819152220, 0 LA~ (A = B)]

Question Number : 80 Question Id : 70819115683 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
8 FYNT TePTORNY IR IR OBBROIE ?

Options :
70819152217, &+~ (AVE)
70819152218, ¥ (A~ B)

70819152219, [A~(A—=B)]—=B

B—=[AA(A—=B)]

70819152220.

Mathematics Section B
Section Id : 708191585
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1

. gcollegeduniaz
Sub-Section Id : 708191865 YT e St o .



Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 70819115684 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
If the least and the largest real values of «, for which the equation z+«z—1|{+2i=0

zCandi=+-1)hasa solution, are p and g respectively; then 4(p* + g% is equal to
P q resp 3 p-1q q

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 81 Question Id : 70819115684 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

a 7 895 ) 1oz meAT BSoIRNT BTT AeETED 2+ lz 1[4 7:':0{26 C 2 i=J=1)
2,00 TOTROT p DI q & Tesaonal. 8T8 4p*+q) ddow
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819115685 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.
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Let B, (i=1, 2, 3) be three independent events in a sample space. The probability that only
B, occur is o, only B, occurs is  and only B, occurs isy. Let p be the probability that none of

the events B; occurs and these 4 probabilities satisfy the equations («—2p) p=af and

P(B,)

(B~ 3y) p=2fv (All the probabilities are assumed to lie in the interval (0, 1)). Then m is

equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819115685 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

SRC0 THIT DD FZ0E SoRpdw B (i=1,2,3) 8Ndd. B; 20T QORMD v DR
» Q0T LVOERTLT P [P I B) Q0T LLORMET o SR FoPRACODIIRNT, B; 00T
It w0l eotRnd {WI Rog@ReohIo p SNT WH, 3 4 ToPIeoNINTR,

ZLTBID ANFTEND (a—2p) p=af BB (B-3y)p=2py 8T ((0,1) B ¥IHADY

P(B,)
B 2y ROPIONINTD, vwbAmen) J0TT P(B,) IRV eIV A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819115686 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

:
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e
Let P=12 0 «f, where acR. Suppose Q=[ q.] is a matrix satisfying PQ =kI, for
3 -5 0
k 5 9, 1%,
some non-zero ke R. If 3= E and Q = 5 thena”t+kisequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819115686 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

3 -1 -2
% ack, P=|2 0 o zomod SmE Q=[q] F o7 JRITYT keR, PQ=K;
3= 0

/i

[, FARPBT. o qn = gm:ag Q = — ©hd, vad o + k2 9@0 8¢

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819115687 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.
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Let M be any 3 x3 matrix with entries from the set {0, 1, 2}. The maximum number of such

matrices, for which the sum of diagonal elements of MM is seven, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 84 Question Id : 70819115687 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

~'-~3% M & 3x3 T5e3T e {0,1,2) ©nd, v 3eor Fuzw MM Se35y 7 8nd. en
nog mogomwy SwIFomw

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819115688 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let A={neN:nisa3-digit number }
B={9%+2: keN}
and C={9%+]: keN}forsomel (0<1<9)

If the sum of all the elements of the set A m (B C) is 274 X 400, then[isequal to

Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes

.
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Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819115688 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

A={neN:n DpD ©os0od 0}

B={9% +2: keN} =03

C={9%+I: keN}sogy [(0<1<9)

ANBuUC) ooy TLIT MRNY DR

274 %400 ©hT, l':-.ﬂ:‘]ﬂ I8 &8
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819115689 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

: ; 1
The minimum value of « for which the equation . | T has at least one

f T L1
solution in ' 0, —|is
Wy

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText .
collegedunia:



Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819115689 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

P : L
— + ——— =a gth ANCITRC Y 20w HOT 10
smy 1- sinx |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 87 Question Id : 70819115690 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

d
If I{x Flx — 2)dx = 22, (a > 2) and [x] denotes the greatest integer < x,
d

then _[(x t[x])dx isequalto

a
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

.
gcollegedumas
India’s largest Student Review Platform



Question Number : 87 Question Id : 70819115690 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

a

xl+lx—2dxr=22,(a>2) &3 [x] ARUNST 0T J[pHoFOT <x, 80RO
i’ e 0

a

d

[(x+ 2D dx 550 zasy

d

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819115691 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If one of the diameters of the circle x% 1 y3 2v— 6y +6=0 is a chord of another circle ‘C’,

whose center is at (2, 1), then its radiusis .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819115691 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

.
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Ay -2-6y+6=0 W 20 MWAT I MdLom ITdhed FIT 'C st [T
IRC, (2,1). 800 W

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001
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